H. Algebra 2 Unit 3 Review
Name: Date: Hour: ____

Module 5 - Poly‘ nomials Functions

5.1 Graphing Cubic Functions

Describe, in words, the transformations ap'pli'ed to the graph of f(x) = x* to produce the graph of g(x).
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5. Write the equation of the form (x) = a (b (x— h)) + k for the graph.
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5.2 Graphing Polynomial Functions

Given the graph, identify the following: 41
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Use the end behavior, x-intercepts, and y-intercept to sketch the graph of the function.
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6.1 Adding and Subtracting Polynomials

Add or Subtract. Write your answers in standard form.
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5. A rectangular field has a perimeter of (3x® — 12x? + 10x — 75) miles and a length of x miles. () } )

a} Write an equation for the width of the fleld in terms of the length.
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6.2 Multiplying Polynomials ~¥ '

Multiply. Write your answers in standard form.
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ﬁaThe Binomial Theorem . T
Expand using the Bnmmxa! Theorem _(,' } .
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Find the specific term in each binomial expansion. -
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6.4 Factoring Polynomials

Factor complgteiy.
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6.5 Div:dmg Polynomials
Use on in to divnie e polynomials. Write your answers as dividend = (dwzsor)(quottent)+remamder G
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Use synthetic division to divide the polynomials, Write your answers as dividend = (divisor)(quotient) + remainder.
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Determine whether the given hinémial is a factor of p(x). ¥fitis, completely factor p(ag).
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M e 7 - Polynomial tions
7.1 Finding Rational Solutions of Polynomial Equations

Solve each polynomial egquation by factoring, .
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List all possible rational roots of each equation, then find the actual roots.
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9, An engineer is des1gmng a storage compartment in a spacecraft. The compartment must be 2 meters longer than itis
wide, and its depth must be 1 meter less than its width. The volume of the compartment must be 8 cubic meters,
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7.2’ Finding Complex Solutions of Polynomial Equations

_ Write the simplest polynomial function with the given roots.
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Solve each equation by finding all “h?ts'
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3 oltage, V, measured in volts, can be either posmﬁvr negative, The

voltage of the c1rcu1
V. =

9. An electrical circuit is designed such thatTts outpy
fasses thmu h zero at t = 1,2,and 7 seconds. Write the simplest polynomial describing the voltage
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